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QUESTION BOOKLET

This question paper contains 17%%16“]0]]5 /EF H‘ﬂ HH 1709 € |
All questions are compulsory. /
One question carries half mark only. / Eﬂv‘ﬂﬂ%ﬁw%ﬂ?{ T HFH T |

Total Marks : 85 ST 3T : 85
Time : 2 Hours AT ;2 HUE
1.  Who has won the 2017 Kenya Presidential Election ?

(A) Uthuru Kenyatta (B) Y. Museveni

(C) Raifa Odinga (D) William Ruto

21 Tt FArE-2017 T Sfie 2 ‘
(A) P HAT (B) TA.GESA (C) W aiem (D) Ffermeer

Maheshwari Chauhan is associated with which sports ?

(A) Boxing Chess (C) Cricket (D) Shooting
Rvadt =i fom @a TR & 2

(A) Heassi (B) WS (C) Tshehe (D) faemiaTsht
What is the theme of 2017 International Youth Day ?

(A) Youth and Mental Health (B) Youth Building Peace

(C) Youth Civic Engagement (D) Change Our World

IS T fegw-2017 F fiwwn g 2 ‘

(A) I TS HUTH 2o (B) g feifeen dig

(C) 2 Tafess wem< (D) = AR e

‘Who has been appointed as the new Chief of the Central Board of Film
Certification (CBFC) ?

(A) Shyam Benegal (B) Prasoon Joshi

(C) Naresh Chandra Lal (D) Vivek Agnihotri

H4 e sAvE &g (CBFC) w1 1= 31exe foher fges fopam men 2 2

(A) TTH STA (B) S& St

(C) T == A (D) foae i

Which Nationwide Campaign has been launched by the Union Government to
protect elephants ?

(A) Gaj Kesri Yatra (B) Gajanan Yatra
(C Gajraj Yatra (D) Gaj Yatra
o HIET o foTU Shesl TRePR GRT ¥ H =hi &1 AN & fepam w2 8 2

(A) T HF IET (B) TNHAIET (C) TN IET (D) T JE=0
Which State Government has launched mobile therapy vans for elderly people ?

%F% Bihar (B) Assam (C) Uttar Pradesh (D) Kerala
U= TR A g o1 o foTu dramger SRt o9 ey i
(A) ToER (B) 3™ (C) ST (D) He

M. Venkaiah Naidu has been sworn-in as 13" Vice-President of India. He hails
from which state ?

(A) Karnataka (B) Tamil Nadu

(C) Maharashtra (D) Andhra Pradesh

TH. ST TG A W%lﬁw—ugcr%%wﬁma?ﬁ | I fFE T F B A E ?
(A) EZirca (B) dfierTg . (C) HBWIY (D) 3Y 9eq
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10.

11.

12.

13.

14.

Which state government has launched a new awareness drive “Namami Gange
Jagriti Yatra” ?

(A) West Bengal (B) Bihar (C) Uttar Pradesh (D) Uttarakhand
forer T wehm A SR ST <quhy T St 2w wmey R R 2
(A) ufFememe  (B) fogw (C) I IEH (D) ITETE
India’s first micro forest will be built in which state ?

(A) Madhya Pradesh (B) West Bengal

(C) Uttar Pradesh (D) Chhattisgarh

T 1 J2H &R 9 (A1geh! B ) Tomm e 1 Ffifa femem <mimm 2
(A) HEI T (B) uffemEma (C) I UEH (D) BTG

Who has been appointed as the new Chief Justice of India ?

(A) G.B. Pattanaik (B) Deepak Misra

(C) KK. Mittal (D) Ranganath Misra

VT <R T e =amnehsn fordt e fpm man 2 2

(A) Si&l. g (B) duss fsm (C) &%, e (D) Ty Ay

Who has been appointed as the brand ambassador for Swachh Bharat Mission
in Uttar Pradesh ?

(A) Sachin Tendulkar (B) Amitabh Bachchan

(C) Akshay Kumar (D) Aamir Khan

T e H W= A e % s Ueeet % w9 | for s frmman ? 2

(A) Ffedgerkt (B) M@ &= (C) HEIFAR (D) AR EH

India’s first helicopter-taxi service will start in which city ?

(A) Bengaluru (B) New Delhi (C) Chennai (D) Kolkata
I 1 7o RfeTehiiet - ol Hefl fohet et # & <1 Sarft 7

(A) FTIE B) Wfedt (€ W= (D) FrerHr

Which state government has launched Aadhar-authenticated Direct Benefit
Transfer Portal “MahaDBT” ?

(A) Kerala (B) Maharashtra

(C) Madhya Pradesh (D) Uttar Pradesh

fhE T TR 7 SR -ATAShds sEe AHhe JTEH 9ed “MahaDBT”
T TR 8 2

(A) (B) wemTy (C) WSy (D) I

Indian Army has developed which mobile app for soldiers to track promotions
and postings ?

(A) Soldier App (B) Humraaz App

(C) Army Cloud App (D) Track Post App

T &1 = Hf5hT & TTT Te 31 ifeds 1 91 e < fog SF = Jesa ™
forpiira <l & 7

(A) §esi@  (B) BWE W (C) HH FARS W (D) ¢ IR W
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15.

16.

17.

18.

19.

20.

21.

22.

What is the theme of 2017 World Breastfeeding Week ?
(A) Sustaining Breastfeeding Together

(B) Breastfeeding : A key to Sustainable Development
(C) Breastfeeding : SDG 2022 goals

D) Mother’s Absolute Affection

WY GHIE-2017 =i i w18 ?
(A) TR sRefRiET it (B) SRMIET : T hl g e SITH=e
(C) srfBfem : w@ =it 2022 e" (D) Hed TsHIeE 3TheH
Himachal literally means
(A) Greenland Belt
(B) Land of snowy mountains

C) Land located among Himalayan mountains
D) None of these

hl &
(A) dFevgsiee (B) Terremiicd warsi 1 yfH
(C) Tewrer = warel § e i (D) ¥4 | IS A
By what name “Shivalik hills” was known to the ancient ?
(A) Manak Parbat (B) Naga Parbat
(C) Vyasa Hills . (D) Trigarta Parbat
ST ST ! “Rrenfes waea e Am A g et 7
(A) HFH9Ed (B) AmMusEa (C) =@ uRieal (D) Brd e
The river ‘Beas’ rises from
(A) Baralacha pass (B) Rohtang pass
(C) Shipkila pass (D) Zozila pass
T’ 9G] el § Hedi g 7
(A) TN e (B) Ugamed  (C) fmeRiwmam (D) it e

The ‘Dudhon’ and ‘Parbati’ glaciers are located in which district of H. P. ?

(A) Kangra (B) Chamba (C]‘)%WKullu ' (D) Sirmaur
gal 3R el femaiear fenmerer et o fopy foel 7 e € 2

(A) TSt (B) = (€) Foe, (D) farwit
‘Chobia pass’ is located on the border of

(A) Chamba-Lahaul (B) Kullu-Lahaul

(C) Manali-Kinnaur (D) Mandi-Kullu

iferar guf feraeht wfimr m ferm 2 2
(A) ISR (B) Fooade  (C) TR (D) AvEl-gee]
The ‘Hangrang’ valley is located in which district of H. P. ?

(A) Kinnaur B) Lahaul-Spiti (C) Chamba (D) Kullu
B BT T ou o o T 1 R 7 7

(A) TereR (B) wEe-fEfa (C) =wr (D) FoeL

The Shivpuri spring is located in which district of H. P. ?

A) Solan (B) Mandi (C) Kullu (D) Sirmaur
T Tt g o fopg fomi 3 fm 2 2

(A) ®ie (B) vl ©) Fvq (D) ferie
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23.

24,

26.

27,

28.

29.

30.

31.

Sukhsar lake is located near

(A) Nauni (Solan) (B) Damtal (Una)

(C) Rewalsar (Mandi) (D) Jubbal (Shimla)

FEE 3T 56 T e B

(A) Nt (efier) (B) Hde (1)

(C) TETe= (HuEh) (D) o5 (IRTHeAT)

(Sjil)jrosonl valley is i](JB) U © s D) Hami
olan na irmaur [amirpur

e 1) 2 *

(A) HiedH (B) SH (C) TroimH (D) s d
In the pre-vedic period Shiwalik Hills were inhabited by

(A) Dasas (B) Kinners (C) Aryans (D) Nagas
yd-afees et 8 franferes waifeat § s e #d 9 7

(A) TE (B) T (C) 3 (D) AT
Pandavas (probably) spent their twelve year exile in

(A) Bilaspur (B) Sirmaur (C) Mahasu (D) Kaza
UTUSE o (HE:) 3191 SHE Y ol aard J&T fear

(A) foemmg  (B) R (C) wer, (D) st
Who supported the Kirata King Shambra in the Kirata-Aryan War ?
(A) Matasaya Naresh (B) Verchi

(C) Drugana _ (D) Shringi Rishi
%ﬂﬁ—&ﬁg@ﬁ%ﬂﬁwwﬁwmﬁaﬁ? '

(A) TRy (B) ¥ (C) gom (D) *Ffi &M

The Founder of Kahlur (Bilaspur) was from
(A) Malagarh (B) Ambala (C) Bundelkhand (D) Chittor

el ({SITTHTR) =1 FEAT9e o1 .
(A) TTATTE (B) 3Tl (C) eorEvs (D) Fois

Who transferred the seat of government from Brahampura to Chamba (920 AD) ?

(A) Mushan Varman (B) Hans Varman
%C) Sahil Varman (D) None of these
. 920 T fopee Ty ohT STeTq & S ST foma 2

(A) HIHT  (B) BHEHA (C) "ifg@sd™ (D) 70 s Tal

The earliest seat of the rajas of Kullu dynasty was at

(A) Delhi ~(B) Magadh (C) Haridwar (D) Prayag
o] 991 % T3 hl TR Teg! el ot 7

(A) feeeht (B) =™ (C) ®ER (D) w&m
M.K. Gandhi visited Shimla for the first time in 1921 and stayed at
(A) Shanti Kutir (B) Peterhoff

(C) Idgah Maiden (D) Rothney Castle

THe, M A 1921 ¥ dgefl ST e 6l germehrd off o7 31 T8 et ¥
(A) WiagR  (B) de@®  (C) SQMEHGH (D) U e (Hee)
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32,

33.

34.

35.

36.

37.

38.

39.

40.

Who was the leader of “Dhami Satyagrahis” ?
(A) Bhag Mal Sautha (B) Padam Dev
(C) Gulam Rasool (D) Prithi Chand

eyTef} W AT S ST 4T 9
(A) wFEE Hien  (B) TeH A (C) TemwEe (D) fi=w

The ‘Jads’ are found in

(A) Pangi (B) Rampur Bushahar
(C) Hgngrang Valley (D) Sangla Valley
' U A &

(A) Tt # (B) THREEAH (C) T add (D) GFten =t §
The Gaity Theatre of Shimla was opened in the year

Terge o1 Y foriex 30 o | g o

(A) 1887 (B) 1892 (C) 1903 (D) 1909
‘Bakarmala’ festival is famous in which district of H. P. ?

(A) Kangra (B) Shimla (C) Chamba (D) Mandi
TR Ical femrarer wew o fopm e 7 wftg 2

(A) TSI (B) fmem (C) = (D) wuet

Amrita Shergil was associated with which of the following places of H. P. ?
(A) Kullu (B) Paonta Sahib (C) Manali (D) Shimla

I IRfier femreret wewt < 1 o 1 fober v 4 weafa 8 7

(A) ol (B) WherHIgE (C) HATH (D) e
Who wrote the book ‘Suraj di Pahli Kiran” ?

(A) Shanta Kumar (B) Dr. Banshi Ram
(C) Ramesh Chauhan (D) None of these

(A) TATHFAR (B) L. MI™ (C) WW=RE (D) 398 8BS T8l

Shanan hydel power house is located at

(A) Jogindernagar (B) Chamba
(C) Wangtoo (D) Kibber
(A) WIfleTFR (B) =i (C) I (D) forss

Swami Vivekanand Hospital is located at

(A) Shimla (B) Hamirpur (C) Palampur (D) Dharamshala
Tt fadeg TeraTe ferm

(A) Temer (B) FHRY (C) ITeEgL (D) YsITet

Which sportsman is known as Himachal Express ?

(A) Tekchand Bhandari (B) Ramesh Tamta
(C) Kamlesh Sharma (D) Dalip Singh Rana
fope el =kl TemTarer worase & ST 7T & 2

(A) =< 9UeHl (B) WS amal  (C) wYewy®l (D) gefi fag uom

7 Code No. : C-406/2017/Series-A



41.

42.

43.

44,

45.

46.

Tides are caused by

(A) gravitational pull of the Sun and Moon
(B) seismic vibrations under the Earth

(C) violent activity under the Sea

(D) None of these

ST~ YTET 37 hl 0T &

(A) T 3R T =l Toca 1 Rg=a (B) 9t o sfia’ e e
(C) %%ﬁmmnﬁﬁfw“ (D) g‘?ﬁm\éqﬁ

A rocket is propelled by

(A) the nuclear fuel (B) the force of escaping hot gases
(C) the batteries (D) None of these

T Tehe Teher®l TUTifed BT & 7 .

(A) Tigehr Sem (B) Tl 9 791 % FA

(C) wef (D) 7§ %E TE

Carbohydrates are

(A; not manufactured by plants

(B) primary source of energy for living things
(C) not essential for human beings

(D) None of these

(A) e gr (e T 8 & | (B) Hia o fofu Sl o Srafieh Hiq & |
(C) el o fore s & & | (D) ¥ @ i T |

Genetic Engineering is concerned with
(A) determining genetic code

(B) discovering the inherited traits

(C) alteration of genes of living creatures
(D) None of these

1 Y B
(A) Sfes whig faior g (B) @ <7 91 o 9
(C) Efig TIfor < A1 & T & (D) sqﬁga%gﬁqﬁ
What is the gestation period for a goat ?
;%)& %;S%‘céays ‘a(B) 6%0 ;iays (C) 90 days (D) 120 days

(A) 150 (B) 60T (C) 90 fem (D) 120 fe=
The sky looks blue due to which of the following ?
gA) Sky is actually blue in colour.

Bg Sky is the reflection of the sea water so blue.

C) Blue colour of light is of short wavelength so can be scattered by dust

articles and water vapours but not the other colours.

gr)% None of these

4 ¥ fopm srr 3R e feens g g 2

(A) AT aread | i TT 1 2 |

(B) STThT™] T ST i WIS & SETCTT et 2 | ,

(C) SRTST  HTet 11 1 TUTCEA BIET BT &, T5TEeh SR gt UM 3T el 917 o
g Jehivlet &l Heell & etfeh 311 11 T |

(D) T 8 %I T8 |
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47.

48.

49.

50.

31,

52.

The petrol fire cannot be extinguished with water due to which of'the following

reasons ?

(A) Petrol is highly inflammable and water cannot extinguish it.

(B) Petrol breaks water into hydrogen and oxygen and consumes oxygen for
burning.

% Water %e’mg heavier slips down and petrol comes on the surface and bumns.

C

](%; None of these

T 8 T TopT ST Uge i 3T i U1 < AT el F9I <7 ehell & ?

(A) YIS T STASI B 3T U1 38 T&T T Hehell |

(B) ﬁ@aﬁ?g@maﬁxaﬁmﬁaﬁw%aﬁtm%mmﬁ
@qd shidl & |

(C) it Wil §H o SRl there STl 2 3R Ugied Teg T 31 SHal & FHL Ferd1 2 |

(D) 379 & I3 &7 |

Why does milk turn sour ?

(A) Some germs are born due to heat

EB) Milk changes into an acetate

C) Micro-organism present in milk change lactose to lactic acid
(D) None of these

g4 @l i B SR ? .

(A) T < AT P ST I & S 2 |

(B) g9 THICZ H ¢ Sa1 & | . '
(C) By ¥ 3ufeq geusa daers i Afdesh TRre A aga ¢ £ |
(D) 3 T HIg & |

Why do we need proteins ?

(A) To build bones

(B) For producing hormones and antibodies

(C) To produce more blood
(D) _None of these

0 IS 1 STavgehdr =91 Bl & ?
(A) FferE < famio 3 fog (B) BMH 31 ufeamiifess 3cre ot <h forg
(C) M Th 3e9a i o forw (D) T 9 =S A&l

Lead pencil contains

(é; graphjteb gg% {\elad Fity
ure caroon NOTIE O €8¢
%aar%aﬁ-aﬁm% .
(A) IHTEE (B) HrEn (C) g (D) $H H ks T

Orange contains

(A) Vitamin C (B) Vitamin A (C) Vitamin B (D) None of these

Y 3 21 2 |

(A) feifim ¢ B) fewefmA (€) fwefEB (D) 3 T HIE &

A myopic person cannot see

(A) nearer objects (B) distant objects (C) anything (D) None of these

(A) Feredhiamgd (B) gL (C) T4 (D) & 8 i3 T2
9 Code No. ;: C-406/2017/Series-A



53.

54.

55.

56.

57.

580

59.

Arthritis is caused by
(A) inflammation of one or more joints gB) stopping of breath
(C) dlvﬂic%l%y %n breathing D) None of these

HT
(A) Th ST FHoeh S| =hl TS 6 HNUT (B) HIE o oA o H0I
(C) va& o HiST$ 3% HROT (D) 57 B 1S TE
Tetanus affects
(A) nervous system (B) human liver
(C) skin (D) None of these
JYTferd ST & _
(A) Af=FITA S (B) AMGFHd  (C) o= (D) 30 § i3 Tal
By whom was the Constitution of India adopted ? -
(A) Parliament of India gB) People of India ® %
(C) Constituent Assembly D) None of these ¢ % 3

WA % GiTE i femeres gra Fifie fomar o 2 - R0
(A) YA HI HEE (B) WRAH @R (C) Tiau™ Gl (DY) € &I 7@
Which is the final authority for establishing a new sMemIndm ?

(A) State legislatures B) Ea{hm%?t

(C) President of India D) Prlmé nister of India
A H 731 T T110d & 6 ﬁ«rq mﬁfr ]

(A) T=x fauniyent (B) wa

(C) e & g9 ' (D) 9RA & JaEEE

Indian Constitution' provwies f@r

(A) Dual citizefiship . o B) Single citizenship

(C) Both, (_AD/\md @) %D) None of these
ARG *ﬂaﬁ ETGIR

(A YNGR T (B) Tehed AT

Q) (&) 3 (B) I (D) & & ré e

" Ate the fundamental rights justiciable ?

(A) No B) Yes

(C) Only iflegislatures violate ED) Only if executives violate
11 HifeTeh ATTHR ATEA 8 ?

(A) &t

(B) &

(C) % e faenfe srfesrmor s 2 |
(D) heret A SHrdTferent JAfdshmoT i & |
The Indian Constitution is
(A) Rigid
(B) Flexible
(C) Rigid in some cases flexible in others
(D) None of these

TR giaa= 8
(A) H3T (B) ot
(C) & A § TR 3= H oo (D) 30 | IS TaI

Code No. : C-406/2017/Series-A 10



60.

61.

62.

63.

64.

65.

How often the Finance Commission is constituted in India ?

(A) Only once (B) Once every year

(C) After every five years (D) After every ten years
T o Tt s fepaht e fafifa g & 2

(A) Had TH 91 (B) U Y T &R

(C) sk i< a1 o 9= (D) ek €F @i o g
What does the Executive of the Union of India consist of ?

(A) President (B) Prime Minister

(C) Council of Ministers (D) All of these

g o T <hl HRTTeRT Shee Tiersrt ) Bt 2 2
(A) Tgdfd (B) e (C) =t uftg (D) =&+t

On what grounds can the President of India be impeached ?
(A) Forviolation of the constitution

(B) For disobeying the Prime Minister of India

(C) For disobeying Parliament

(D) None of these

I % Ugfd <l fobt ammerrd ot aeriienfira fepan ST aemar 2 2

(A) TIIYH o IeeTad & o (B) 9Rd o WA i 31am o foe
(C) &g hl 37a31 o fog (D) T 9 g Al

Who appoints the Chief Justice of India ?

(A) President of India (B) Prime Minister of India

(C) Parliament of India (D) Speaker of India

T < g i <l s i ot 2 2

(A) YA % TP (B) YA & T

(C) WA 6! gog (D) ¥ & TfieRt

Can a person act as a Governor of more than one state ?

(A) Yes (B) No

(C) For six months only (D) None of these

T Ueh STk T § 31eeh T < TAITeA o €4 H H1d HL Hebell @ ?

(A) & (B) &

(C) <had B: AfgH o oy (D) 398 ¥ HIE Tl

Who appoints the Chief Justice of a High Court ?

(A) The Governor (B) The Chief Justice of India
(C) The President of India (D) The Prime Minister of India
I T % qE e i Fgie n g 2

(A) T=IdTEA (B) YR o G&I RIS

(C) YR < TTIN (D) YR % FEFHHT

11 Code No. : C-406/2017/Series-A



66. Who administers the Union territories of India ?
(A) The Lieutenant Governor
(B) The President; regulated by the laws of Parliament
(C) The elected representatives
(D) The Home Minister of India

T o g I T T TG I LT & 2
(A) 3Y-T=9TA (B) Twald, HHg o Sl g faffia
(C) faifea wfaty (D) WRd % & wall
67. When the Planning Commission was setup ?
IS STERT Y TATIT el g8 2ff 2
(A) 1950 (B) 1961 (C) 1969 (D) 1947
68. Which of the following ladies became Governors of Indian states ?
(A) Sarojini Naidu (B) Vijay Lakshmi Pandit
(C) Rajkumari Amrit Kaur - (D) None of these
7 5 5 slF ) wigen Wt Tsg1 61 TsI9Te &4 ?
(A) FufsHt g (B) Torsmreed wfigq
(C) TR 310d HR (D) & T HE &
69. The Rajya Sabha which is the Upper House of the Parliament
(A) has a life of six years (B) 1is a permanent body
(C) has a life of four years (D) has a life of five years
T |1, 11 §EE I I HeA &,
(A) & safus: ad g | (B) i fpmr 2 |
(C) N FR =R ? | (D) i srafy ui= oy & |
70. Normally the interval between two sessions of Parliament should not be more than
(A) Three months (B) Six months (C) 30 days (D) 45 days

A=A THE o &l Al o §19 sl AUl (1 & 3ATeh Tel siF1 =ey ;
(A) d=ad (B) ®:uled (C) 30T (D) 45 feq

71. Stagflation is

(A) inflation with growth (B) inflation with recession

(C) deflation with growth (D) deflation followed by inflation
i whife 2

(A) g Tr =hifa (B) el % @1 whify

(C) ghg o a1 SFaehifd (D) FaThifd o a1g Thifd

72. India’s major imports consist of
(A) Industrial manufactured goods (B) Raw material

(C) Agricultural products (D) Only (A) and (B)
IR o & 3§ et 8

(A) 3frEnfies ffda aeqd (B) = HTeA

(C) Hfy 3 (D) e (A) 3T (B)
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73.

74.

75.

76.

77.

78.

79.

80.

The Indian budget is divided into

(A) Revenue budget (B) Capital budget
(C) Both (A) and (B) (D) None of these
AT Sre ferTora T 2

(A) TSEd &g (B) Ui 59e H
(C) (A) 3R (B) gHt (D) &7 & 1S Tl

Which of the following is not the function of Reserve Bank of India ?
(A) Issuing currency notes
(Bg Banker to Government

(C) Banker to banks
%’% Giving dlrect loans to the industries .
o 31T gfosar FT SR T 7 ?
(A) ST =ﬁz R BT (B) ThI hl Semt
(C) o % fom sem (D) FENTI ! TeI& w07 ST
Which of the following commodities earns the Highest Foreign Exchange for India ?
(A) Coffee and Tea (B) Metal Iron Ore
%ﬂl’ [ron and Steel (D) Clothes
S T FEgE 9 & forg Tt T aifdia i 2 2
(A) bl 3R I= (B) TIIE 3TTEh
(C) <ie 3t &e (D)
Which of the following measures cannot remove poverty ?
(A) Government subsidies (B) Population Control
%}% Increase production (D) Equltable distribution
I TS <Rl gL 8T e ST wehar ?
(A) wﬁ 343,’:1:{ (B) SHEEAT =0
(C) 3 Halg (D) EHEare e

When was the Employee’s Provident Fund Act enacted ?

wHar wias iy st e srfafriia gan ?
(A) 1961 (B) 1952 (C) 1950 (D) 1965
One of the main sources of income for local bodies is

A) Taxes on income B% Taxes on commodities
C)_ Taxes on property D) Taxes on expenditure
[EEARIED

1 1 9 U 31 1 g% Eih
(A) FFH (B) TEGHTWH (C) wﬁraa— (D) @& T

Which of the following crops cannot be cultivated in unirrigated lands ?

A) Wheat (B) Sugarcane (C) Bajra D) Groundnuts
ﬁéﬁﬁwaﬁ@eﬁmﬁﬁﬂﬁwqﬁaﬁwm% ?

(A) T (B) =T (C) == (D) el

Which of the following is the main function of Unit Trust of India ?

(A) Mobilise small savings (B) Giving loans

f(%vtv Imposing tax (D) Collecting tax on agriculture land
T I U] Teh 4,21 HTS. 1 Teh J&d 1Y 2 ?

(A) B Tl I FTET T | (B) U1 9EM HEAT |

(C) AN HET | (D) Y [ 9 HL G |
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81.

82.

83.

84.

85.

86.

87.

Which country is named as ‘The Cockpit of Europe’ ?
%:% Hungary (B) Austria (C) Switzerland (D) Belgium
) B3l

: T I 2 ?
(A) &M (B) sifean  (C) feagsmeve (D) sfewam
?)X];ic{nlis the bright(e};; plfl,lllet ? © M D) Jupi
enus Pluto ercury upiter
L TEHAATE ?
(A) T (B) =l (©) 3 (D) T

Rift valley is

(A) Subsidized land leaving a long and narrow opening
(B) A deep valley in the mountains

(C) A valley on the sides of which are huge mountains
D) None of these

~=d &
(A) ¥, T 4@ wieT ST Hehivl BT 2 |
(B) weifeat & weh el =rdt _
(C) =, Tk qrRall W fermiret 9eid Bid |
(D) 7 8 3 e
Delta is
(A) Triangular shaped land between its distributaries
E(B:g The deposited mud

The broken rocks
(D) None of these

‘_"a—tl,-@" 2

(A) ﬁﬁ‘gﬁ%éﬁaﬁﬁﬁvﬂamzﬁqﬁ
(B) <1 g3 hr=rs

(ORE

(D) ¥ © Hig TEl

The shortest day is

(A) 24" December (B) 21% March
(C) 22" December (D) 23" September

TeH BieT feam 7 .
(A) 24fmsr (B) 2199 (C) 22 fegsr (D) 23 faasr

‘What was the former name of Iraq ?

(A) Formosa (B) Siam
(C) Mesopotamia (D) None of these
S0 1 AT AT T AT ?

(A) ®BREE (B) Tazmm (C) THNRIFET (D) 378 8IS T8l

Zodiac is a belt of

gA) 12 constellations B) All the stars
C) All the planets D) None of these
THU R :

(A) 1279&@ s (B) ®ftadis (C) W@ (D) 98§ AiE 8
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88.

89.

90.

91.

92.

93.

94.

95.

Summer Solstice occurs on

(A) March21 (B) June2l (©)
e 3

(A) 21 =& (B) 2153 (C)

September 22 (D) December 22

22 forden (D) 22 fewer

Huts of snow where Eskimos live are called

(A) Igloo ~ (B) _Lagoon (©)
o I B9, JET e T €, FEerdl 8
(A) ¥ (B) (€)

Which is the largest island of the world ?
(A) New Guinea (B) Borneo (©)

EFEEIESEL R T s -t
(A) =i (B) Rfam (C)

Oasis (D) None of these
SN (D) &8 & s T
Greenland (D) Madagascar

PR LS (D) HESTIRER

The first Open University in India was established at

New Delhi (D) Madras
3 feweft (D) g

Traders and craftsmen
Original inhabitants of India

ST U BRI
YA o 7 el

Kosala (D) Lumbini
HEd (D) dAfesfi

Near Patna
Near Allahabad

AT o HHM

(A) Hyderabad (B) Kota (©)
YT k1 WU Tk Tovafaremer shal wemfid gar ?
(A) BEETE (B) I (C)
Who were Dasyus ?

(A) Priests and teachers (B)
(C) Were rulers and warriors (D)
T HH Y2

(A) TSI T TRiereh (B)
(C) o IEsh 9T Mgl A (D)
Where was Buddha born ?

(A) Rajagriha (B) Magadha  (C)
G < SIH gl 53T U1 ?

(A) T8 (B) #1¥ ©)
Where was Nalanda University situated ?
(A) Near Karachi (B)
(C) Near Oudh (D)
reter Tavafaemer waf fem o ?

(A) U % THT (B)
(C) 3aY < geid (D)

What was Din-i-Ilahi ?
(A) A mosque set up by Akbar (B)

(C) A religious prayer (D)
SIH-T-SeTET T AT ?

(A) FHSL G 4T 7 Th HEhg  (B)
(C) T Tfiieh WYT (D)

15

TATRTEIG % HEfd

A religious book
A religious path laid down by Akbar

Teh YT T
SRR G I ToharT TR U enTfifeh o
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96.

97.

98.

99.

100.

101.

102.

What is meant by Sardeshmukhi ?

(A) An officer (B) Atax
(C) A type of organization (D) A type of group
T 1 AT g 2
(A) U st (B) Th ot
(C) T3 =1 Tsb T (D) HHg =l Ush T=hiX
Who wrote ‘Ratnavali’ ?
(A) Harsha (B) Banabhatt
(C) Kalidasa (D) None of these
Torarett fopea foreh ¢ '
(A) = (B) @mrag (C) wifererd (D) $7H S TRl

Somnath Temple was sacked by Mahmud of Ghazni in the year

(A) 1009 AD (B) 10I8AD  (C) 1025 AD (D) 1021 AD
TEYE T g feRd A HimATer wiet oer T 7

(A) 1009%9. (B) 1018%4. (C) 1025%4. (D) 10213.4.

Raja Ram Mohan Roy was not associated with

(A) Remarriage of Widows (B) Abolition of Sati

(C) Sanskrit Education (D) Promotion of English
TSl UoHTEA U foras gafi| 78 9 2

(A) ferere fefers (B) T I

(C) w&hd fran (D) 3T =l SIgTaT

When was the Shimla Conference held ?

e g 9 28 o 2

(A) 1945 (B) 1942 (C) 1941 (D) 1944

The Indus Valley seals were most probably
(A) meant to signify ownership of property
(B) means of exchange in trade

(C) religious symbols

(D) None of these

fay =t <t mral arfreey dufad sv @
(A) Tufa T i gl oft | (B) =R fafee =1 atent oft |
(C) wfifer Torg oft | (D) 9 ¥ 1E 6l

Brahmanas are books that deal with
(A) Astrology (B) Science of sacrifice
(C) Magical incantations (D) Only prayers to the Gods

SITErT o fehaTsl & Sl Tlehr Tt B

(A) =afoa &

(B) wfeigH & fog |

(C) SMg-2HT "

(D) <haeT ST <h1 hl T o] i3t &
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103.

104.

105.

106.

107.

108.

109.

110.

Bimbisara belonged to the

(A) Haryanka dynasty éB) Harihar dynasty
(C) Girivraja dynasty D) Anga dynasty
Hela o1

(A) BEHINH (B) EE@awd (C) ffissisw® (D) smawd
The Buddha can best be described as

(A) theist (B) agnostic (C) atheist (D) materialist
& U8 FY Y ST 1 Tkl &

(A) SETEE (B) FHEETE

(C) & (D) e (Hifdehsid)

1\1\/}110 %mong the following were the first to invade and rule over north-western
ndia -

(A) Parthians B) Kushans ® o 9

(C) Scythians ED) Bacterian Greeks % % |

31 5§ Tope T SAsRHT Shieh TG oh So—igsd Wi I mm@aﬁﬁﬁvm?
(A) TIfeRm (B) (C) me N D) S g
Who regarded God as the “Supreme Beauty’? L% " |

(A) The Sufis %ﬂ "Ehe\ USlnm
(C) The Christians Yo The Parsis

fepert YT T “weiT= GetdT hET ﬁjﬁ}‘rﬁr >
(A) gH! (B). gﬁ\m 1o zeEE (D) T
Why did Muhammagd- bm-rTu],gb'Iaq fail ?
(A) He was not aspractical statesman.
(B) He introdii¢ed token currency.
(C) He sransferred the capital from Delhi.
(D) & was foolish.
ggﬁm - <RI feIhet T 2
(A) 98 SHTEETIED T=T 8] 9T | (B) IE o HET AN T |
(C) 3o Tow, feeeft @ wr@ia <l | (D) =8 9@ o1 |

Which ot the following musical instruments was brought by the Turks in India ?

%n:)-( Sarangi (B) Sitar (C) Damru (D) Tabla
HF A T 9T I Teb g WA § S T 7
(A) gt (B) Tram (C) =A% (D) st

Which was the principal spice growing region in India ?
(A) Malabar (B) Cochin (C) Hindukush (D) Calicut

I o1 HEeA (IUT) HHTE IeTE ATell el i H1 g ?
(A) HTATER (B) whieH (C) Tegmw (D) hifcTehe

In the Mughal period, Zamindari was not

(A) hereditary (B) asaleable right
(C) ownersh1p of land (D) mortgageable
TR & S siert  JEiefi |

(A) I9TTE (B) fersh I &6

(C) fft =1 wfirg (D) Y (freh)
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111. Ivory painting was a speciality of

(A) Marwar school (B) Alwar school
(©) ?undi school (D) Bikaner school
Frfigra feshrl wen fafrear &

(A) ORETS Wl (B) IR A (C) TS e (D) T St

112. The real name of Swami Dayanand Saraswati was

(A) Uday Shankar (B) Mul Shankar
(C) Shiv Shankar (D) Debapriya
Tl EAHE FTE 1 4ol T o1

(A) IR (B) g@WR  (C) PmEwe (D) <
113. Where was the Theosophical society founded ?

(A) Calcutta (B) New York (C) Chicago (D) Madras

forral HIHTEE! Ha] T 53 7

(A) el (B) =ik (C) T (D) wgrE

114. When did the first Indian National Congress meet in Bombay ?

%9 S T YT YA T HiE S5 g8 off 2
(A) 1885 (B) 1886 (C) 1847 (D) 1896
115. Abhinav Bharat Society was formed by
(A) Rashbehari Bose (B) K.T. Telang
(C) Savarkar Brothers (D) Lala Lajpat Rai
T W FHTS hi TTHAT <t 7% off _
(A) THEiSE SE (B) &, aem
(C) &l eyY (D) ATAT AT T
116. Wlﬁch gf the following ranges separates the Kashmir Valley from the Indus
Valley ?
(A) Shiwalik Range (B) Pir Panjal Range
(C) Dhaula Dhar Range (D) Great Himalayan Range
ﬁmﬁﬁaﬁﬂﬁqéaévﬁwsrrﬁamﬁqgmﬁaﬁ T A & 2
(A) Tererferes geasivf (B) dR-Y=iet gdasvft
(C) iR gdasmfl (D) w&a Temrem wdasof
117. Cardamom Hills are also known as
(A) Palani Hills (B) Yelagiri Hills
(C) Annamalai Hills (D) Nilgiri Hills
SeTS TETiedt 58 AT | oft S S E '
(A) gerof gaTfear (B) I gerfea
(C) 3TTeTs TeTreat (D) etk warfeat
118. The most important tributary of the Ganga on its right bank is
(A) Yamuna (B) Ghaghra (C) Gandak (D) Kosi
T S} % g9 TehTi <hl Hedl TEwl TaTEeh ot
(A) I (B) =TERT (C) e (D) it
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119.

120.

121.

122.

123.

124.

125.

126.

Western disturbances originate over the

(A) Mediterranean Sea (B) Indian Ocean

qﬁ)a'l:lﬂérablan Sea (D) Bay of Bengal
fmfor 8 2

(A) HSHETT W (B) fee HEEFR |

(C) 3T | W (D) ST i T W

The Indo Gangetic Plains are mostly made up of

(A) Black soil (B) Alluvial soil

gﬂé Mountam soil e o 3 (D) Alpine meadow soil

(A) e B eehEE

(C) T=TEl et (D) TeuTsd-uT 08t &

The oldest mountain range in India is the
(A) Himalayas (’](3) Vindhyas  (C) Shiwaliks (D) Aravallis
A oh! T GO qEauTal

(A) Tewm= (B) fa=r (C) forarfers (D) et
Which of the following lakes in India is known for its prawn production ?
A) Wular Lake (B) Sambhar Lake
C) Chilka Lake (D) None of these

¥ A i = S ST IeUTEA o foTe, S SITef 2 2 ‘
(A) gemEE  (B) ®REwE  (C) foewisi@ (D) sHEHEAR

Seasoning of wood is done to remove

(A) colour (B) bark (C) moisture (D) wounded parts
1 82 o o1 18 1 wehrs <l et B 2
(A) T (B) BT (Ieset) (C) ATl (D) e Y H

‘Which of'the following dams of India is considered as the highest gravity dam
in the world ?
(A) Bhakra Nangal (B) Hirakud
C) Nagarjunsagar D) Kosi
Y WA 1 hH |1 &Y forgd o1 Hel 3= e SiY HHT STa 2 2

(A) WU AT (B) EN%E (C) Wr@awr( (D) i

India’s position in Jute production in the world is

(A) First (B) Second (C) Third (D) Fourth
¢ 3cUTeA B Wi ﬁaa 3 feurfa B
(A) oo (B) foehar (C) = (D) =g

The term ‘Green Revolution’ stands for
(A) large scale afforestation
EB large scale reduction in soil erosion
C) rapid growth in the output of green vegetables
(D) rapid increase in agricultural productivity

ug ‘g it & areed §
(A) < AmET § e (B) =< Awmn § Yy 3Twed geF
(C) s afomi % 3aeAddaafy (D) N Iceswar i dig sgrad
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127. Haldia Oil Refinery is situated in
(A) Assam (B) West Bengal (C) Odisha (D) Gujarat
gfeean sffaw e fem 2
(A) 3rEqH (B) 4.¥m@®  (C) anfswmd (D) TeRIa |

128. The Milky-way

(A) is stationary (B) is not stationary
(C) revolves sometimes (D) never revolves
FTRTR T

(A) fer® | (B) ARRT |

(C) wHufi-aheft et 2 | (D) e & gt B |

129. Radar is used in military operations to
(A) Destroy enemy tanks from a distance
(B) Locate enemy positions
(C) Destroy enemy planes from a distance
(D) None of these

G afETe 3 WSR T 29 &

(A) ot ¥ g F el I e w0  fom

(B) &R =h ferfel a0 =t < foTg

(C) Tl ¥ 37 o BTSN Rl T i % fery

(D) T & i &

130. The instrument in which multiple images are formed is known as
(A) Microscope (B) Kaleidoscope
(C) Epidiascope (D) Periscope

(A) HgsRIERIT  (B) hefigiem™  (C) TheRE™M (D) 9iRehig

131. Which one of the groups of letters is different from the rest ?

T |1 318 1 g I H AR 2
(A) BDF (B) LNP (C) QOM (D) RTW

132. As ‘Crime’ is related to “Court’, in the same way, ‘Sickness’ is related to which ?
(A) Lawyer (B) Medicine (C) Doctor (D) Hospital

Y Y’ FEYG g ey §° 39 g Smi vetig @
(A) ThiA o (B) T@EH (C) SfFexd (D) &feres §

133. In a code ‘MOMENT" is denoted by ‘OMOCPR’, then ‘THERMO” is
denoted in the same code by

ferel e # “MOMENT" sfed feram 71 & “OMOCPR’ &, @ ‘“THERMO' 34t

& | e foran s

(A) VFGQOM (B) VFGPPM (C) VEGPOM (D) VFGPOM
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134.

135.

136.

137.

138.

139.

140.

If dog is called cat, cat is called lion, lion is called ox, ox is called cock, cock
is called elephant and elephant is called donkey, then tell a farmer ploughs
with which animal ?

donkey

(A) dog (B) lion (©) (D) cock

aifs g = Faeefl w1 MU, foreelt 1 3, 31 3 e, Aot T 7, 7 0 e @
F1eft =l 4T gl S, @ FA1sY 6 T e ferad Wt i ?

(A) (B) 3 (C) e (D) ¥

If all the numbers from 1 to 26 which are divisible by 3 are arranged in
ascending order then which number will be at 4™ place from the right ?

1 9 26 & = <ht ot g, < 3 § faursa 8, &1 ST0E e W@ Y, di el |
e T W HH € g st ?

(A) 12 (B) 15 (C) 18 (D) 21
Introducing Suman, Sarala said, “His mother is the only daughter of my
mother,” How Sarla is related to Suman ?

(A) Nephew (B) Sister (C) Cousin (D) Mother

gu <6 U AT BU, T Siedt, “3Heh! [T B AT St UehEe ) § 1w,
v ¥ fopH TR HE T @ ?

(A) wisft (B) & (C) el (D) wrl

Ram is taller than Shyam, but not as much as Rajan. Arjun is taller than Sohan
who is shorter than Shyam. Who is the shortest ?

(A) Rajan (B) Ram (©) Argun (D) Sohan
i | 91, W & S 2

Y, 39 F FH=1 2, W USH W EH I BRER |
TE BRI SR ? (
(A) TSH (B) 1™ (C) A (D) Hred

Narendra goes 8 km in the west from a certain point. Then he moves to his
right and goes 8 km. In the end, he goes 25 km in South-East direction. How
far is he from his starting point ?

(A) 10km (B) 20km (C) 15km (D) None of these
ferefl Ffe=ra Toig & Fteg wieem 4 8 Tenrlt =rem | Tt gl 31 geeht 8 fepelt =rerm |
SR & T8 gferor-d fosn § 25 forefl = | 9@ 319w umifie fog & fRa gt a 7
(A) 10 Tt (B) 20 fereft (C) 15 foptft (D) T4 ¥ g T&l

3

If ‘a’ means ‘“+°; ‘b’ means ‘—’; ‘¢’ means ‘+’ and ‘d’ means ‘x’, then
16a4b3c4d2 =7

afq ‘o’ o1 HAe™ +7; ‘b’ o1 HAw™ ) ‘C’ I HAWHE =+ GUT *d’ H HAAST x,
ar 16ad4b3c4d2 = ?

(A) 10 B) 17 (©) 185 (D) %

What will come in place of question mark ?

SEHETE [oI% oh €Y U T AT ?

B2S, F6P, J14M, ?

(A) N30I (B) M241 (C) N30J (D) P24]
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Directions (Q. 141 to 145) : Choose the most appropriate word out of the four
options (A), (B), (C) and (D) to fill in the blank.

141. Ravi is married a cousin of mine.

(A) with (B) to (C) alongwith (D) off
142. Conversation was carried on whispers.

(A) on (B) by (C) away (D) in
143. With your help, I could tide my difficulties.

(A) away (B) off (C) against (D) over
144. 1 shall stand by you thick and thin.

(A) in (B) into (C) about (D) through
145. The minister has promised to look the matter.

(A) at (B) into (C) for (D) about

Directions (Q. 146 to 150) : Spot the error out of the three sections of a sentence
marked as (A), (B) and (C). If there is no error in the sentence, Mark (D).

146. [am too glad / to see you looking / well today No error
(A) (B) (©) (D)
147, [respect him ) s he is my father. , No error
(A) (B) (©) (D)
148. [ saw the teachersitting ,ona desk / in the class. / No error
(A) (B) ©) (D)

149, This room is ; Yoo much small / for six persons. / Noerror

(A) (B) (©) (D)

150 The murderer ; was ordered ) to be hanged by the judge. / No error

(A) (B) (©) (D)

Directions (Q. 151 to 155) : Choose the word out of the four options (A), (B), (C)
and (D) which is nearest in meaning to the given word.

151. Abject

(A) castaway (B) mean (C) worthless (D) grovelling
152. Dearth

(A) abundance (B) scarcity (C) vogue (D) end
153. Nadir

(A) height (B) lowest point (C) nullify (D) hopeless
154. Replenish

(A) tospread around (B) to fulfill

(C) to indulge (D) toprovide a new supply for
155. Zest

(A) energy (B) weakness (C) gain (D) gusto
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Directions (Q. 156 to 160) : Choose the most appropriate option out of the four
options (A), (B), (C) and (D) which indicates the meaning of the given
idioms/phrases.

156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

To rule the roost

(A) to measure the height of something

(B) to measure the depth
(C) to strike with a stick
(D) to dominate

Brown study

(A) to study sincerely
(C) deep in thought
To be in doldrums

(A) tobe in low spirits
(C) to praise loudly

Kangaroo court
(A) a group of kangaroos
(C) unofficial court

To keep the pot boiling
(A) to maintain interest
(C) to show anger

“HHT ITeC <h1 Jd ST

(B) to study uselessly
(D) practical advantage

B) to be within doors
(D) tobe in a crisis

(B) the young kangaroo
(D) unofficial estimate

B) to heat
(D) to do experiments
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